axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

m;=100. MeV (mass 1)

’ =y @ Point, 137 configs
r W Z3,78 configs
- 7 & Replaced, 78 configs
_4; . ..n
© oty !
0 10 20 30 40 50 60
t
m;=210. MeV (mass 4)
0 7 ‘ ‘
_2.
—4 -. n..
o &
oY f
el F@%
(;‘ 1‘02‘0304‘05‘06‘0
t
m;=290. MeV (mass 7)
0 7 ‘
-4 -. -..
L ® v
s
| T
8l
o 0 2 % 4w 0 e
t
m;=350. MeV (mass 10)
07 e S
oL ®
_4:— ., il. .
L .‘ii ?
B | F&% | i
_8()7‘ l‘()HHZ‘OHHBO‘ 4‘05‘()6‘()
t
my=450. MeV (mass 13)
- . u..
: "ii i"
e R
s #
o 0 w0 w0 4w s

axial—us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

m;=140. MeV (mass 2)

O L ‘ 4
-2 . -.E
-4 ..n.. I T ..l. 4
6] lg;‘ | e ;!l. 1
-8 I i

_10 7 L | L | | L | | | ]
0 10 20 30 40 50 60
t
m;=240. MeV (mass 5)

O L ‘ ‘ 4
k
-4 I .l -. R

L [ v
L L/ B i
6l "ii fi’. ]
o] Féﬁ% ;
0‘ 1‘0‘ 2‘0 ‘30” | 4‘0‘ 56 6‘0
t
m;=310. MeV (mass 8)

0 L ‘ 4
2 -.E
-4 .I.' '.n. B

L » l

St "’?*iq }}i‘f 5

sl [} }%} * 7
- 10 ; 1 1 1 1 1 1 1 1 il L L it | L L L L | L L L L | L ;

0 10 20 30 40 50 60

t
m;=380. MeV (mass 11)

0 i ‘ e ‘ ]
;
s, s

% i
o T
el Pagets ]

0 | l‘()‘ 2‘0 36 4‘0‘ 56 6‘0

t
m;=510. MeV (mass 14)

0 L ‘ ‘ ‘ ‘ ‘ ‘ 4
;
N, s
6 i

g pf

-3 ]

o 10 20 30 4 50 e

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial—us Log,,[G]

axial-us Log,,[G]

m;=180. MeV (mass 3)

m;=270. MeV (mass 6)

o 10 2 % 4w 50 e
t
m;=330. MeV (mass 9)
O,
-4 -' -..

: | ii'
LT
#

o 0 2 % w0 0 e

t
m;=416. MeV (mass 12)
07 e
T, &
T 4
T
0 10 20 30 40 50 60
m;=556. MeV (mass 15)
O, e
: L iiil
6| ‘%i%} E%i
W
5| | | H{ | | |
0‘ 10‘ 20 30‘ B ‘40 50‘ ‘60




axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

m;=590. MeV (mass 16)

@ Point, 137 configs
W Z3,78 configs
& Replaced, 78 configs

10 20

%i] H R [t F{

t

m;=690. MeV (mass 19)

50

o : i

10 20 30 40 50

t

m,;=800. MeV (mass 22)

" 3
%{}Hﬁﬂﬂgﬁ{%ﬂg{&ﬁﬂ W‘

10 20 30 40 50

t

m;=2250. MeV (mass 25)

' m

I

10 20 30 40 50

t

my=2979. MeV (mass 28)

O S S R T S Y SO SO RT
10 20 30 40 50

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

m;=640. MeV (mass 17)

axial-us Log,,[G]

L] *‘Nf"”j

axial-us Log,,[G]

axial-us Log,,[G]

axial-us Log,,[G]

axial—us Log,,[G]

axial-us Log,,[G]

m;=670. MeV (mass 18)

et

10 20 30 40

t

m;=740. MeV (mass 21)

E‘F e

10 20 30 40

t

m;=1600. MeV (mass 24)

I S S R O S SO N BT
10 20 30 40




